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Topic:- GENERAL HINDI

1) fFafafEd e & @ srgar &1 9 Jurif v gagu|
1. UTab e

2. JCHASl

3. GRS

4, HITAT

Correct Answer :-

3) TS I P U [P0l Td W1 8 o ¥ B & I T PR 82
1. SUHT 3[qHR
2. TV SABR
3. JHD DR

4. 3JUNY 3ABR



Correct Answer :-

o U 3fADR

4) "SI 7T ATAT 3T BI' 9 TG FAYE & (¢ U 2eg qarsy|
1. GAH

2. AdSita

3. AT

4. 41 HgHM

Correct Answer :-

5) R fou faweal &  <FS=uar &7 G U S AT3?
1. Ao
2. O

3. o
4, Qg

Correct Answer :-

6) Fafifea & & omr v & firg o= w1 wdl faeav Tg 32
1.
2. 91
3.

4. 94

Correct Answer :-

7) UTSP’ Ueg A DI AT Yd 2?2
1.6
2. 3

3. 3P



4.3

Correct Answer :-

4. GUTHR

Correct Answer :-

9) U BT JHY FIT HEaATdT 32
1. 3RTG

2. (A=Y

3. OETE

4.9dlg

Correct Answer :-

10) Fe & Ye A ok 39 qerR &1 ordf fFrraferfEd ffeeal # A HTar g2
1. G U B A1

2. B HHY HTH B arell

3. XS SHM

4, TIGH T Y §gd HH

Correct Answer :-

o 3G Y §gd HH

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:



I cannot stand on ceremony with my friends.
1. like ceremonies

2. get personal

3. avoid being invited

4. be formal

Correct Answer :-
e be formal

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word:

After a lengthy argument all of us reached a consensus.
1. point

2. decision

3. agreement

4, conclusion

Correct Answer :-
e agreement
3) Out of the following options, choose the most appropriate usage to fill in the blank:

India's strategy for double digit economic growth in the 11" Plan period is predicted a minimum 4%
growth in the agriculture sector.

1. in the expectation through
2. in expectation of
3. on the expectation cross

4. on the expectation over

Correct Answer :-
e in expectation of

4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

He when he the scholarship.
1. was disappointing, did not win

2. was disappointed, did not won



3. was disappointed, did not win

4. had been disappointed, has not win

Correct Answer :-

« was disappointed, did not win

5) Out of the following options, choose the correct form of adverb for the given sentence:
Thisis______ the time to raise such questions.

1. so often

2. frequent

3. scarcely

4. every

Correct Answer :-
» scarcely

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

These largely treeless isles _ frequently battered by Atlantic storms, gales and rain.
1. has been

2.is

3. are

4. was

Correct Answer :-

7) Out of the following four options, choose the incorrect sentence:

1. How many food should | order for the lunch of the client being planned for tomorrow?

2. He put on his duffel cap, clutched his trench coat tight and went out into the howling wind.
3. The kidnappers had planned to demand a ransom of Rs. 2 lakhs after two days.

4. Christmas is round the corner and Christians round the world are preparing for the festivities.

Correct Answer :-

¢ How many food should | order for the lunch of the client being planned for tomorrow?



8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. An octopus appears to be just a huge head with eight long, fearful arms.

P. Its mouth is on the underside of its body.

Q. Its head is soft like rubber and its eyes stick out on stalks so that it can see in all directions.
R. It has powerful jaws shaped like a beak.

S. The long arms or tentacles have double rows of suckers which can fasten into objects.

6. They fasten into objects with such immense force that they cannot be pulled off.

1. RPSQ
2. SPQR
3. QPSR

4. QPRS

Correct Answer :-
¢ QPRS

Topic:- GENERAL KNOWLEDGE

1) The fixed method of regulating the currency exchange of different countries was brought by: /

fafira 3= & qar fafrmg o) fafafia s o) e fafy & gRT @18 T3 A

1. IMF / 3{cRTSIT Hel BTy
2. World bank / f3% S
3. FATF / T ECIUH

4. WTO / fa% SomuR I8

Correct Answer :-

« IMF / SR gl By

2) The Madhya Pradesh State Planning Commission was established through the General Administration
Department’s resolution released in the year ./

HeHA TSR IST TISTHT TART B RITYAT, T8 A SR} I U= fAUTT & udTg & Jrend | &1 8 At

1. 1985
2.1972
3. 1995

4. 2007

Correct Answer :-

e 1972



3) The robot SB Met, which has become the first robot to cross Atlantic, is developed by the company of
which country? /

el gHdt Ae, St siedifed UR R aral Ugdl Jaie 9 T g, foha 3=1 91 st gR faw e foar wan @2
1. Japan / ST

2. United Kingdom / g-TSc 8 fhired

3. Norway / -4

4. France | i9

Correct Answer :-

» Norway / BIC]

4) Who was the First Chief Justice of Federal Court of India? / HRd & JHHI <IRITAT & YUYW S rarefier B A2
1. Sir Srinivas Varadachariar/ ¥R SIHd =R

2. Sir H.J. Kania / WQ?I@[ CAIGE]

3. Sir Maurice Linford Gwyer / ¥R iRy fifswrs MR

4. Sir Patrick Spens / ®R m g

Correct Answer :-

 Sir Maurice Linford Gwyer / @R TR fifswrs MR

5) CANCELLED

As per Census 2011, what is the total population of Madhya Pradesh? /
SRIUMT 2011 & AR, U SR Bt Fof T-RiST fha-il 82

1. 53492000

2. 61278000

3. 80034000

4. 7627000

Correct Answer :-
e 7627000
6) CANCELLED

How many Municipal Corporations are there in Madhya Pradesh? /

HeaueR # $d fraa TR fAmw 82



1. 14
2.15
3.13
4.12

Correct Answer :-

e 14
7) CANCELLED

River that flows in the east, passes through Madhya Pradesh and drains into Bay of Bengal near Orissa is: /

9% 741 Sl g9 § 95 §Y A UG | G Yokl § SR ST & U §71Ta o1 Wret § et §:
1. Mahanadi / T

2. Denwa / &al

3. Chambal / I

4. Shipra / farom

Correct Answer :-

e Mahanadi / {8 ﬂé

8) The carbohydrates which are not used immediately in the plants is stored as: /
PIalgTggC ol Uyl # gid SXIATA 181 (98 9T, d §9 ¥U | Afd 3 &1 §:
1. Glucose / W

2. Sugar/ REZR

3. Glycogen / Wﬁaﬁm

4. Starch / A1 Rl?f)

Correct Answer :-

« Starch /Al Rl?f)

9) Name the company in Hoshangabad that manufactures Bank Notes and Security papers. /
BIRATETE § I S BT A1 ga159 Wt 9% e 3R ufayfa srra Aftfa st 31

1. India Security Press/g'%mﬁ?@ﬁ_aﬁﬂ

2. Security Paper Mill /Uﬁkﬁmw

3. India Government Mint / HRd IHR CHh A



4. Currency Note Press / H&T FlIlc U

Correct Answer :-

« Security Paper Mill / Bfcyfd HHTS HREHT

10) Where in Madhya Pradesh is Government Opium & Alkaloid Factories located? /

T YR T TRBRY MBI 3R SehIa 158 had] Hal (Ud 82
1. Singrauli / RITRIGH

2. Itarsi / CRET

3. Mandsaur / QR

4. Neemuch / T1Hd

Correct Answer :-

« Neemuch /=g

Topic:- GENERAL REASONING

1) If Z = 26, NET = 39, then NUT = ? /
gfe Z = 26, NET = 39, @I NUT = ?

1. 50

2.53

3.56

4. 55

Correct Answer :-

« 55

2) Find the missing number: / q&l ST {Td P
25, 50, 30, 45, 35,40, __

1. 30

2.40

3.45

4.35

Correct Answer :-



3) Find the average. /
3fad J1a B

75, 65, 85,95, 75 & 85
1.90

2. 80

3.70

4. 60

Correct Answer :-

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
= <t 715 e SreRY ud GBSl T SIhH AR Bl ¢ | Ted Ao ugda |

()WE14RE45TE

(ii) WE14REA45TE

(iii) WE14RE46TE

(iv) WE14RE45TE

4, 1ii

Correct Answer :-

5) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
frafafed for 10 ar ual # & i fod & ud & o 99 o 91 T 8 82

Allies Computing Ltd

Manor Farm Barns

Fox Road

Framingham Pigot



NORWICH

NR14 7PZ

+44 1508 494488

(i) Allies Computing Ltd
Manor Farm Barns

Fox Road

Framingham Pigot
NORWICH

NR14 7P2

+44 1608 494488

(ii) Allies Computing Ltd
Manor Farm Barns

Fox Road

Framingham Pigot
NORWICH

NR14 7PZ

+44 1508 494488

(iii) Allies Computing Ltd
Manor Farm Barns

Fox Road

Framingham Pigot
NORWICH

NR14 7PZ

+44 1508 494488

(iv) Allies Computing Ltd
Manor Farm Barns

Fox Road

Framingham Pigot
NORWICH

NR14 7PZ



+44 1508 494488
1. ii

2.1v

3.1

4. iii

Correct Answer :-

6) Shyam can do a job in 10 days and Kamal can do the same job in 20 days. How long would they take to do it
if they work together? /

TTH TP BT B 10 f& & B pdT & 3R FHd I S B 20 & & & Ipar g1 e 3 4 b
1Y BTH B & 1 A B A I8 fpa=1 9T T2

3 3
. Iﬁgda}'if 551%?{

BEda}'i ! ?Eﬁﬂ'
2 2 2

9 3
6 _davs/ 6= Tea
3, 3

EEda}fﬁf' IEﬁF—F
4, 3 3

Correct Answer :-
9 9

6 —davs/ 6=
3 = G

7) IfPand Z are two sets such thatn(P) = 19, n(Z)= 27 and n(PUZ) = 38, then find n(PNZ). /
I P3N Za 9 59 vR § &Fn@®)=19.n(Z)=27 3R nPUZ)=38.97 n(PNZ) FT
|

1.6
2.8
3.5

4.7

Correct Answer :-

e 8



Topic:- PEDAGOGY

1) CANCELLED

Generally, Dyslexia is associated with which disability? /

fewafeRmar = wu & fw sramar & weifta ghar e?
1. Playing / e

2. Singing / 7MY

3. Writing / forem

4, Speaking / CIGE

Correct Answer :-

+ Writing / fora

2) What is the primary difference between Piaget and Vygotsky’s theories of language development? /
HT9T faer # fUramst 3R argieet & Rigidl & g urufie siar | g2

1. Vygotsky argued thought depends on language while Piaget argued thought are not necessary for language /

AT 3 T fear P faar, v iR R wvdn g wiefe fUars 3 T fear & foar, o & forg
3R P Tl B |

2. Vygotsky argued thought depends on language while Piaget argued language depends on thought /

%ls‘l\l&d?nl q a fear & foaR, wwr R AR wvar g wiefe fUams 3 g fear iy, foar R AR swan
|

3. Piaget argued that thought depends on language while Vygotsky argued language depends on thought /

?ﬁﬁﬁﬁm%ﬁﬂﬂ, T R AR a1 § Safes argiics! 3 d@ fear i 1, foar o AR ot
|

4. There was no difference between Vygotsky and Piaget regarding language and thought /

HTYT 3R faIR & e H argtiice! 3k foare & fiT 3 3R 781 2

Correct Answer :-

« Vygotsky argued thought depends on language while Piaget argued language depends on thought /

gsﬁmorﬂ q a fear & faar, v wR R wwar g wiefe fUam 3 a& fear i vy, foar wr AR wwan
|

3) Quantification of attributes and interpretation of result is: /



Tl T TRATUH 3R YRUITH D ATST 49 &:

1. second step of measurement / HIUT ] gIRT <RI

2. first step of measurement / HIU [ Ug il <RI
3. third step of measurement / HIU h] CRIRT TRT
4, the last step of measurement / HIU ] 3ifaH =RT

Correct Answer :-

o the last step of measurement / HIU ] 3ifaH =RT

4) Which of the following is a two-way teaching learning process? /

Frufefaa 9 @ o= @ feantt Rraror siftrre wfsar @-3 e affo ardw) 82
1. Group discussion / W EEl

2. Audio-visual presentation / ©RY-HY mﬁf (&ﬁ'%ﬁ-ﬁﬁ\’rlﬁ PEREIE)

3. Computer Assisted Instruction / O.buﬂ\dﬁ Heldd frgar

4, Language laboratory / HIHT ORTRITC]

Correct Answer :-

 Language laboratory / HINT ORTRITC]

5) In sensorimotor stage, children are not able to: /

Tafes I=i sraw @R ww) #, 9= 30 e T 1 7
1. Display reflexes / FoIITdl g fid e |

2. Have motor coordination / AR TH-Gd - H

3. Have sensory stimulation / Hda! I wa o

4, Form symbolic relationships / PRICARCASENERIE R

Correct Answer :-

« Form symbolic relationships / Ui IdD dae § 4 |

6) In Piaget’s theory of development, cognitive imbalance is known as: /
e & faer figia §, AT Sgad &1 59 ¥4 § ST 91T 8:
1. Cognitive disequilibrium / GRIHTHD fadda

2. Cognitive schemas / IHTHSD THHT



3. Assimilation / THITd

4. Accommodation / 3TdTH

Correct Answer :-

« Cognitive disequilibrium / GTHD fdHTa

7) Attitudes, values, and interests are reflected by: /

=PI, 7w, ok i = & gr ufvafa@ gia 8

1. Structural domain / IRAATHD Q‘II"I@HH

2. Cognitive domain / SRITHIH® JHEH
3. Psychomotor domain / T IR® e
4, Affective domain / HIdIHD SI'I:T&%[

Correct Answer :-

o Affective domain / HId[HD SI'I:T&%[

8) Who has put forth the theory of Social Learning? /
arTfore T & Riia ®1 fea wfaurfea fasar ur
1. Hull / g1

2. Bandura / a?gr

3. Watson / an”aq:r

4. Spearman / TRAT
Correct Answer :-

. Bandura / g

9) Who among the following used procedures where the client was asked to enact a role during a
therapeutic situation? /

fFrafafaa o @ #1939 ufrar &1 swura owar g e aafd @@rge) 7 ve faferciy Rufa &
R T YfHwT &1 AU & forg w1 omar g2

1. Carl Jung /Eb_l?fﬁi"'[

2. Carl Rogers /Wﬁ\_ﬂﬁ

3. Sigmund Freud / Ry s
4. George Kelly / EINE]



Correct Answer :-

« George Kelly / EINE]

10) The purpose of conducting an achievement test is for following reasons, except: /

TP SUATS! U&7 ST B3 BT 324, RIary 39 FRUI &+ SisH: 3 I & forw gian 3:

1. For writing the objectives / S&] o ¢ & fold

2. For modification of teaching strategies / fRrefor Iufaal o T=NeA & 1%‘1"3

3. For evaluating pupils progress / Rl &1 TiIfd & Gedich o forg

4. For motivating pupils through knowledge of results / st &1 TRomHl & 3199 o A1end § URd - & forg

Correct Answer :-

 For writing the objectives / 3%321- [ &% e & fam

11) According to Kohlberg, a teacher can instil moral values in children by: /

PIgal & IR, T R g=t § Afae goul 71 Q@ Far Ievar e
1. enforcing greater punishment for deviant behavior / = agR & T $ifde ool an j\dpiab

2. giving importance to religious teachings / eTfH e Rremsfl IR 7Agd g

3. involving them in discussions on moral issues / d% jII?IGb Jj‘E':I' L°K% tltllcff T HIATDH
4. taking extra classes on moral development / Afae faer W sifalkad DHETT ADR

Correct Answer :-

« involving them in discussions on moral issues / 3% W HEBI R Il & e Hars

12) Which of the following is not a characteristic of a slow learner? /
Frufafea 3 @ o= @ & Rrandf @@t o= z) o1 sifrasmr 5t 32
1. Short span of attention / &I P 3T (A

2. Limited Vocabulary / ST Xsqrddil

3. Limited range of interest / i BT g R

4, Abstract thinking / &ITI:CT IEGE

Correct Answer :-

+ Abstract thinking / &ITI:CT fefa



13) Which one of the following tests is purely a verbal test? /
fFrafafEa & & 1 a1 wdieor ¢ff we fifas wdieor @
1. Thematic apperception test / fawg sraaie= uRieon

2. Ink-blot test / Seh-sdllc URI&TTT

3. Personality questionnaire / fadd gsaat

4. Culture-fair test / ¥ Tcl-I-T&] TRIETOT

Correct Answer :-

+ Personality questionnaire / CIESCRPIEK]

14) Which developmental theory was based on how children learn by observing and imitating others
behavior? /

e o @ 1 a1 fae frgia 59 R R o1 7 2 @Rl & SITeRur &7 Saaid e adT Thd
P 4 ArEd 82

1. Trial and error learning / Q’qﬂ-_aj% S{ieRTH
2. Classical conditioning / ﬁrwﬁr@auwﬂr (FATRIR A dralRT)
3. Social learning theory / AT SHETTH T Rigid

4, Operant conditioning /ﬁ"_ﬁlﬁmﬁ Sl (eﬁlﬁ_d el

Correct Answer :-

« Social learning theory / FTHIfST HTATH T Rigid

15) Bright students can be motivated well by: /

PN g ara faenfial ) = & wream @ vell-vifa earfea fan s a@wan 3:
1. introducing novelties in strategies / JuHIfaa H T AR

2. giving them quick feedback / \3% AR Ulcshal g
3. isolating them in the class / I8 DT H CAT-YTT HID
4, rising their aspiration level and goals of life / IAP! SMDHI&N3N b TR Td Siidd &b 3%@3] | BT I b

Correct Answer :-

« rising their aspiration level and goals of life / IAP! SMHIEN3N b TR Td Siiad &b G%Qtl | BT I b

Topic:- HINDI



1) el fapeq qarsy:
“HERTHT HISl & TG & AP gHRGd & 909 & O NS d& &1 999 AT ST FHa1 g1

1. YD BT
2. JRATTYT BT
3. Yidd Pl
4. A HTd

Correct Answer :-

. Higd s

2) Y @1 T a1 A Y Ui iR GRITHE HRd vl BT GEUENT HRd 7, 3 TREdd! BT T Hied 8 1 R g
gir arel &1 Haar A8t B Y| Hidar S=rRM™, SR Te fA:-5ard geu 3t Suw 8| Topfa aq 419 & gea o
Higd & UaTg 98 arat 31 I9D! T A e 3R IF T9 A § | 98 S A & Ryar 3o 8 ausan)

WY: Ahid B 1 fa=wan g1t 82

1. Ah 4 1 I A4 ged H 3ricy &1 3=ad Udle w1 |
2. G q 1 35T AFd ged H igd &1 fagad ydre a1 5|

3. Yhd BT I5T AFd g&d H Figd BT 3= UdTg &1 gl |
4. IH1d BT 35T A gad | WGy BT Iad Ualg H-l |

Correct Answer :-

. JH(d D1 3T A4 gad H Higd o1 Iad UdTg dx1 g

3) el fawey garsh — A | 1 AT SfRIF @M Tt 7|
1. GREM™

2. YHId

3. YHIH

4, Ydrg

Correct Answer :-

« UHId

4) 3N @ B Y T @afy = A g
1. 3t
2. 3ff



3. 3T
4. 3T

Correct Answer :-

5) I ST RWRT B ugfodr (A9 7 S S A 32
1. YERIYfd

2. UfcIgTRYD T BT 3UTa

3. TRIA® A=Ay

4. 9 1 HEl

Correct Answer :-

. QBT T 31HTa

6) “URTOIT 3R FARTRI ITR YRA &Y DY e o GUR F U0m faror HRd § firefti«
SWRIT Y 54 & e 32

1. 3T TS e

2. 1. A=

3. 81 TS

4. B1. AYTHAA &N

Correct Answer :-

. 31 YIRS g@oT

7) 3t HRA Y APUTHT 1 B &Y, TB STdATHP W | e HTeT off gt — a7 pu faat B2
1. GfEd Mfde geery dd

2. I TSUTEART

3. HETHT 7Tt

4. SIRCY HURATH! &R

Correct Answer :-

. I IISATOTERY



8) el [dhed TdTu-

HEur F YT U TR AR -

1. forad forslt exraen, o, ey, srwe offe & oaad v 7Y WTal &1 &g & URqd fhar SIrar g

2. forH fopeft g, oa, Ry, fawde anfe o oaad fhd Tu wial &1 dau §f uqd forar ST 8|

3. fore farsht gadan, oa, ey, srwde onfe # e ford T HIdl &) ey & Ud fava Sra g |

4. S forxft gadem, g, ey, srq=ye onfe o e ford 71T Hial &1 favdR & g foran ST ]

Correct Answer :-

. e forslt gaqen, o, ey, srwe onfe o oaad fhd T uial &1 da § Ud foar ST 8|

4. TR S Ueq

Correct Answer :-

. TIRHTN ek

10) He! fapeq Farsn -

HEUUT Teg S & U BT S orgarg B W @
1. W U & TSR’ T ST 5|

2. T a YT & “TRfTeger a8 |

3. TS HINT & “URfTeger’ A a1 ]|

4. QT HWT & TSR A TR

Correct Answer :-
. g T & DRfisger: A s gl
11) g fIpeu Famsit -
A Yl ST BT 3rguR 8l gidnl
1. BT



2. 3041y
3. Ay
4, dlch

Correct Answer :-

. 3R

Correct Answer :-

. GHIfdd 9 BT =0
14) el fapeg Farsi-
¥ foredt e a1 ugrd ®1 aviA A 21
1. faaRomar® ey
2. HYUTHD ey
3. QUHTHS ey
4. HTaTHSD ey



Correct Answer :-
. o ey
15) Hel fapeq Farsn-
¥ foredt fawa = T & 9 faaRi &t ywe fSar sran 31
1. faaRUTHS ey
RCEINCEARCL]
3. JUFTEHS fae

4. YTATHS ey
Correct Answer :-

. foarrEs ey

Correct Answer :-

. 3fcipd ferE gl

17) g1 faweq garsit -

SURIN & HYFD DI di- TUT UFT A STeT o JHhal 6 -
1. HYIHY, T T fad, TROme a1 Faifd

2. URH I1 Y191, 35,39 U1 a1, TiRume a1 9Hmw]

3. URY g1 U191, HL T faehTs, GRomy a1 91t

4. YRY 1 YT, HH 1 f[dhTY, Se=

Correct Answer :-

. URY 1 UKITa1, He I1 fad Ty, giumd a1 qHmGd



18) gl AT JHI-

e PIS a5 1 P14 fhedl a9, Y4, R, fopar-sary, 3w wifa, pfa enfe &1
wfafafira wwar gan uwe foan 9iran 8, 99 98 Udis S gl

1. 30, T 07, H1I 71 fa=Iwarsii & ey a1 Ydedl & SRl
2. 304, =Y U1, ST A1 fa=ivarsti & Srare<y a1 el & BRI
3. 30, ¥ 07, ST AT ARl & AT A1 GA&fdl & BRI

4. 304, T 01, ST 1 faRvarsii & Aexg a1 Ul & SR

Correct Answer :-

. YA, TG 01, S 1 faRvarsii & Aexg a1 Udedl & BRI

19) HHAPTA H BRAT (SRE1, g1, uzar ) I w1 A eafar fe=i & o freft
1., 9, %

2. P, 9, L%

3., 9, oL

4.P, 9, 1,

Correct Answer :-

o &, d, VLT

20) freft avg, HT9 a1 foaR &1 3fAMTR 91 & 4@ IR & 91 faraaiesn o= o ot R
Fedl g, A FE A AP TR

1. H1eaTy BT gufcar T BT

2. $0 Ty a1 g &l ged et a9
3. HTd ] FUNT Td Iaford A1

4. T T G & GIE DRI

Correct Answer :-

. $U Iy a1 gIU B! g&d f[aBRI &1

21) 3T IES AT A UGN <3Sl S BT MfAD SU=—ART HIF-JT /AT Y12
1. STCPWT HE BT I TErER

2. AYTHW Y &1 g fog

3. 5T 9 B g1



4. LAY &Y &1 WIS’

Correct Answer :-
- a9 BT TR
22) 3T IWES YT A TRAMYT BT ST ST 7 AT+ 82
1.9000§. -1350 §.
2.1100°5. -1350 §.
3.1000§. -1350 3.
4.1000 . -1700 §.

Correct Answer :-

. 1000S.-1350S.

23) YA & ATYR R &, G, 7T, ¥ fHa W & sidiia 3md 82
1. o oA

2. Ueh Ud ol

3, T o

4. U1 aoA

Correct Answer :-

. W oM
24) YA & SATYR R Tl & DI A UG 32
4. =1, oo, ToRl-deel, ATRye, wiitfe, I, yeaiid, duavgE avarg

Correct Answer :-

25) BT U & 71T, 9199 § 3214 &-
1. U™



2. U gl 7T
3. B

4. Q17T

Correct Answer :-

26) fore i3 &1 UFHla 1 GFUR A’ HaT @1 2?2
1. AHYRY fThR

2. T Burat fARTar

3. AT e U

4. STORIDR YIS

Correct Answer :-
. g deT o

27) {59 walel &t <snyfe ¥R FarwEarg?

1. TR ARG

2. AgTedl gt

3. HRTSTS

4, ﬁ‘*@w%ﬁm

Correct Answer :-

. HgTed A

28) U UGS~ ST aTci aTRI DI AT 22
1. d1g 9 Hl W1 4@l

2. TR Y IR SIS

3.4 BT ART I8

4. 1A 1 UGRT ¢ dTell

Correct Answer :-

« X[d P UG ¢ arell



29) MHIIRAd TIATSAT H H B HI AR HgdT B oGl I el 8?2
1. HeTURITH

2. 3RUY

3. QE])

4. TTG BT gadl

Correct Answer :-

- TG &I gad

30) frafafaa Tamsi § @ $i9 @ Al # Rt = g2

1. G0 AR

2. Ffd P @MY

3. T ORTS 31
4. I THId

Correct Answer :-

. IR URTS 3T

31) Fafafaa el # @ 1 9t $av TR o ot ot 7= 8 2
1. ORI

2. TR TP R

3. 91 &I 919

4. IARfaan

Correct Answer :-

. TR UIETHR

32) fAgfafEd Tareh & @ +19 I dH<e off &t fored) T a8 82

1. B G G
2. HHYW

3. 9d1 ¥&d
4, fAden

Correct Answer :-



33) e ¥ 9 o9 Wt Ay ot fiRivar 18 32
1. foRIcd ] YT

2. 3{f=afd w1 YUY

3. UhgAdl

4. qbadl

Correct Answer :-

34) 9 O A B9 91 U3 T YHR 7181 82
1. TR T

2. JHEIR U

3. DRI T

4. QTSI

Correct Answer :-

o JHRR YA

35) A & @ @1 a1 fig v dE 9t fawar T8 32
1. gyTFafa

2. TRQ TS Rt

3. f9aRl &) geawd

4. IAEY

Correct Answer :-

36) o & § B fdy HTUPR 78?2
1. Uil

ACEINEED

3. guiHTHS



4, HIdIHD

Correct Answer :-

37) | & & P9 A& BT We 72
1. ARAT &g

2. 3T

3. Hifaess dayur

4. IR daqur

Correct Answer :-

. ol Hago

38) fore # & DI A1 34! PTog "ARUT ATeg gRT I 52
1. AreIGd Il

2. UATA IMT

3. A I

4. QRARTS I

Correct Answer :-

. drgeed I

39) A A | 1y Ot ) i A faRiwar 18 82

1. AT IYT HETHR § T B3 DT e H JHTARI
2. ot Qg IR TeR & s

3. % Afgdl

4. JACSIRAT

Correct Answer :-

. JHIU 9T ATHRT ¥ G Ad HUT3T BT g H FHIGRT

40) fog & | B9 A1 HAYUT A JHERIT 9H T @
1. HTST TRA g1 A1ig|



2. HIYT HBTAXaR AT ATABIRSD ol giH! Ay |
3. ST et gt AR
4. AAYSY D1 YN gIHT1 A1

Correct Answer :-

. N Y g AR

1) Ffafaa d URaw sRY= &1 FH-I1 F1c® Te Uga- 82
1. I T, fgar = wafa

2. 3 TR

3. Htacat

4. YR gagM

Correct Answer :-
o SR TR

42) fafafea d 59 it fawst 3t sefifreT 78 amr e 32

1. U1 AT

2. 3BT

3. BIATAI

4. GUST AR AgH

Correct Answer :-

. GHST HHRI e

43) Fafafaa ¥ S it & eriva fwer-gmm ot Bifeul
1. ARGTS!, AT, ATt

2. A, Teell, TSI

3. FTOTHTS, e, Harstt

4. YIoTgSY, e, Afdreht

Correct Answer :-

. 3, T, FOTHTT



44) TYITRIT [AHAGTIGATIS a1 H ¥ [ 91 H IRY [qRTHG1 BT YA §311 8?2
1. S PRI? I DS JHA T 8T 317l

2. S IR, The $© 99 H el ATl
3. IR | I S U T Fal 31
4. TH DR | I8 $© THY T g1 1d1?

Correct Answer :-

. TYHR | T TS IO T el 3ATanr
45) g Aipara 1 & wifew &1 vyq $fa fFa v 32

1. g
2. HER

3. QMRS GR
4, GgUIq

Correct Answer :-

46) ST Il & AT BT AT ATH 82
1. ST

2. 4G sRals

3. RUfd ATeg

4. goufd fasrg

Correct Answer :-

47) faefl o FT Y@ T AT ?
1. Qa3

2. YT X9

3. Ay Y

4. TR Y

Correct Answer :-



48) qTRI BT Wl fawey w1 82
& o wiai s @ &

1. TR — T 3R 3WR

2. TR — o R fat

3. TR — Ao

4. 378 Y PIs IR ol Tel g

Correct Answer :-

.« TR - oM

49) qTH] UG FaTA?
1. SBTATID aTH

2. Yhddrad aI

3. faf¥arae ar

4. AN YA arR

Correct Answer :-

. FoYyaras ar

50) % fbT quif b AT A T ]2
1.“\’+‘sf

2%,

3.3+3

4.3+3

Correct Answer :-

e X+%

51) fady & d@® &1 FATHdl g3iT g1 T1feT|
1. Sfddd 3R fAsfiua



2. JQIg 3R T hdl
3. TE Qelt iR faR

4. Mgl 3R AT

Correct Answer :-

. e 3R Fsiua

52) & iR & fre w1a o1 A IS Yo A Wl g HeT e 2
1. YD BT

2. 3{1fS BT

3. Hfdd &1

4. dfq ®1a

Correct Answer :-

. Hicd BT

53) g a1 & Sfae™a &1 UyH a9d P 82
1. TR I 5 Yo

2. TT-G -t

3. hrgey

4. TS

Correct Answer :-

. T-g-TT
54) =T & WA e 82
1. Har%a? At

2. YTHART qIUsy
3. gAY I =

4. SIOYDHY JITG

Correct Answer :-

. BRI I ==



55) <3THSITd’ ST YGIgdTel 5-

1. 3Hlcd

2. 3Ugad

3. 3Tl

4. FYTd

Correct Answer :-

. IYid

56) AT IBTAIT YGTa¥ BT A B -
1. S[GITH PRl

2. dgH - D]
3. AdTH D HIAT

4. 9% W A

Correct Answer :-

o SGITH PRl

57) <3<t & 9 o fFad gR Iwa At g2
1. AETGdl g

2. TSI H18d gfdaany

3. YAl U41G

4. [ II\_ﬂ:l
Correct Answer :-

. HgTed A

58) ‘AT I&IC AT A A g 5T gerar o1 31 32
1. STYT TR ST TR

2. 318 BT T

3. SfHM gl

4. MU Y TR BT

Correct Answer :-



o S{TYT IR 3MTYT ISR

59) RIS BT Al 370 A ST AT S?
1. YaaRd

2. TR THT
3. WRyH

4. HgIad

Correct Answer :-

60) ‘UG’ T Il 62

1. SHDT U 3T TUT GHRI & Yargul el b7 SATHTRIHING =9 H qui Bl 2|
2. SUDH HYFS Y BT 5|

3. U8 BIAYY Uebich BIcl &

4. TP HYTIX ST 314dT Hid Hfedd il g

Correct Answer :-

- Tg SRAYYM Ui Bicll 8|

61) fagmufe &1 ATfew 390 A 9 AT 82
1. fergaeit

2. &4 RYHT Ve

3. Pifdl T

4. T3Y W&

Correct Answer :-

. SR TR®T A



4. 3{AlSA

Correct Answer :-

63) ‘WYY BT Aifgcd 38 A I AT 751 82
1. 3TRI HeH

2. dISTh

3. G&TTad

4. Hgad

Correct Answer :-

64) TR Yeq BT UYTTAT PI AT g T61 &2
1. UHH

2. 3flax

3. Ha

4. faRHR

Correct Answer :-

65) <wilg: feam™r eray 131 § -
1. Ui & 1 WSH gIAT

2. RPIF SIS

3. 3T H S ST

4. SEIG T

Correct Answer :-

. §gIgel faam

66) “UNIT BT YeTax BT Y § -
1. TS 37T



2. UG el

3. Ul IcAl

4, ISR A gfd BT

Correct Answer :-

. AHYPR A dferd BT

67) ITQTT HT AT 70 A B AT 181 82
1. G dial

2. O aTfeanT

3. GOl XGEH

4. TRIGRTS Ywor

Correct Answer :-

68) ‘TP Alfefa® &1 SERY frad grT fafaa 82
1. TG =l

2. URd=g gRy=

3. UHEg

4. TSI HTYd gfdaay

Correct Answer :-

« TSI H1Yd Gfadaly

69) “HETHRT HA™D YgTax BT 3 3 -
1. AETHRA &

2. ASTS-TST = B
3. ASTS-ZTST 7 HRAT

4. §gd TS2-STST Bl

Correct Answer :-

. Fgd ASIS-STST Bl



70) ‘HH H AR HHAAT HETaX HT3U§ -
1. 4§ ¥ 91 Fpar

2. AT T TS

3. ANGTSI BT

4. AR QAT

Correct Answer :-

. g Q4 ad e

71) ST ifdl TAC IW° $H AP AT Dt yyd® ar o fovd uaR ufvafda farar o awarn

1. 1T X SMifT ST &1 Huar

2. T(ifd ST G, B 3179 HUI?
3. Qi §HTY T puam
4. ST HR HT Y ifd ST IGT2

Correct Answer :-

. HUIHR AT 3T Fifd I+1E G2

72) ‘qqUfd faora ST IR AR A P ATE?
1. fereran
2. ATREA HaH

3. AT T
4. g TS I

Correct Answer :-

73) ‘el TR BT AN 3149 | i AT 181 82
1. SR AR
2. A fgen

3. §JHIMAIgD
4. JHIRTATTT



Correct Answer :-

74) g MY 3T, Y gH 1Y T’ — UE (5 UPR ST a8 82

1. 9=9ldIdd dlady
2. fawaiars arga

3. Y dargd dier

4. ATATAS AT

Correct Answer :-

. Jhdardd qI

75) <ot BYST HIAT YeTa¥ T 3 -
1. ARG BT

2. et

3. AT

4. i1 et

Correct Answer :-

- AGH B

76) ‘FaR JAB # A4 g1 AT 59 919 H {59 UPR $T ey 32
1. fqufa et g

2. fagiwor geeh g

3. o deel gy

4. TopaTTa QY

Correct Answer :-

. fpara ey

77) YT &Th¢’ BT HIfed 370 A S AT 8?2
1. GNP

2. QYA



3. JIadl

4. g9

Correct Answer :-

78) “FAgA Qarer fFad gRT IR Wi @2
1, "R HEdl

2. 1. yHdR YR

3. G SRIG aIcdiE “3Ria’

4. Y1 TG Ay

Correct Answer :-

. geIgHe R arcard 3R

79) P AT sqyfa FT ek fraroaTe, 88 PErwEe |
1. 3T USRI ar

2. fawmadaras ar

3. YATEe aTad

4. degarad A

Correct Answer :-

. fawrarfearaes are™

80) R a1 1 Ts € Ie T 3R FAdY 81 IA #1711 a7 Pgd &2
1. Taf%yd area

2. TR a1

3. UG

4. GG TR

Correct Answer :-

o T AT

81) fofur g1 Y i yraT ®1 fqwg s e ST @ <t gar gl



1. 3gddlg &I o H

2. g Al I ST
3. ThYRAIG Bl 5T H

4. YGTedAIE BT 5

Correct Answer :-

o BWdIG DI H

82) TR TR fFad faer & Sroeit YfireT & o o o &2
1. ST HIYT
2. 3fgeht

3. YISTg
4.3 SicT

Correct Answer :-

83) RIM & SMYR W U, 1,9, 4,7 T STRUT R T 82
1. dleiy

2. ¢

3. a%d

4. ST

Correct Answer :-

84) UGHIGR (§, 9, U, 71, /) P WM TR TR & YA AUYH Y14 fba- @l
1. S1 YR N

2. Sl IRz aat

3. HeTAR U4 fgadt

4, FTTTER fad®

Correct Answer :-



85) FTe® A ATegddr 3R AfHTI_Hah 3Q® IUTEHI &1 azaddr Usdl 8 3R |
1. TRIP B IUPT AT BId §

2. ST B ST e gieht §

3. ST B STHT q1eH gl §

4. AT € ST e AT 3

Correct Answer :-

. 3T E BT WY BT 8

86) St @1 T a=1 e F U= 3R GRS HXPb qToft BT GEUANTT R §, 3 TRl BT @ gied
21 Tt 7= gfy arell Y wfaar 781 w1 Tt | Hiadar Swmm, 3R U4 fA:ward geg $ uw g1
b d U AT & g¢d | Higd & UaTe 9814 araT g | 3! ¥ A I 3R ¥ g I 81 98 32
TS & a1 $© =181 qugran|

: ST eIz &1 2w o

1. D BT gEYINT

2. HIAdl BT gETIN

3. DIl BT GGIUAN
4. 7T BT G0

Correct Answer :-

. HIAdT BT g

87) N T ward a=1 e FY yRiaT SN} GG HRP ATVT T GEUANT Hd &, d Il BT Tl ged
21 3t g5 gt aral ) Sfaar T8 @l Tfee | wiaar S=mRM, 3R vd fA:ward geu &1 Su=r 3|
b4 U AT & g6d | Higd & UaTe 98T arelT ¢ | T®! B A I 3R ¥ A9 A 81 98 32
TS & a1 $© =161 qugran|

TY: TSI 3R ¥ | DI A1 U 82
1. AP JHYH

2. HHYRY JAN

3. gg 99

4. Igsiite THN

Correct Answer :-

. §% 9N



88) UPTUP taf~ P ol 3raR A 2 eaf~y a1 wra: TR wR o 1T SmaTd = Sgardan 22
1. edH-gardard

2. AIRIRI-dATdTd
3. &R — JdATTd
4. Yoq — FATITd

Correct Answer :-

. aH-Serard

89) o HTwre ¥ youg Upfa | ST AT ST R, 8% Pl a8l
1. RS TRTTES U

2. S AT S YT

3. YR AT D HTHT

4. ST faamTees v

Correct Answer :-

. gfgqwt foamTes e

90) fFTd YR WR I & I UG i &2
1. & & MYR W

2. Teg & YR W

3. T & SYR W

4. 3 P YR R

Correct Answer :-

« AT MYR W

91) STq HIS eg UEA AT 3 AT 81 T a8 W STS 3ref &t =iy Wftrer g g it 34 -
1. YT HEd B

2. 3 gRkadH Hgd g

3. 3 fAAR FEd B |

4. 31 YHI PEd g |



Correct Answer :-

. 3 TP Hed |

92) fofa quf faf@a <fist w atet & far s 82
1. S

2. HATHDYT

3. T JATd
4. GO

Correct Answer :-

93) “HTHIH! : T YR’ fFad g1 I=a T 32
1. AETGd! g

2. TSI H14d gfdaay

3. YdH! TG

4. AT

Correct Answer :-

o TSI HIYd giadaiy

94) T HITA ¢, AT GPIUT A, DA 93 &1
3ifEl & A g M d PP TB A4S E 1
- S Ufdadl ¥ S AT 82

1. BT 9

2. QA ™

3. foamT R

4. YA IR 9

Correct Answer :-

. ot R X

95) FRReiial SNt SR o 9 | TR 1



PIUCYJUHUTISIT A GAR B AR

- SWRIe UfRal & S AT PR 82
1. YD 3fABR

2. Jffa=Aifad PR

3. TV SABR

4. SHET IADR

Correct Answer :-

96) 1 T AR ST, T &b oI 1
q HEH & Iadl, § ST EE 1

- SWRIe UfRal § S AT PR 82
1. SUHT AADBR

2. TUPH PR

3. JH® DR

4. 3TUNT 3APR

Correct Answer :-

.« JHSD 3CADBR

97) fraaa afeed g feRy diar1
$8I1 ¢ TUBAR 9 i 1

o 3ie a9 aRag fe@m 1
THE TR fFAR el

SIS Ufdadl § &I A1 34 §2

1. QA ™

2. R TR 39

3. faAIT TR 39

4. AT ™

Correct Answer :-

o TTRT §IR G



98) R fea @ g W g difawer1
39 3fer ¥t erre A, Srud Htelt gR 1
SWRIT ATARVT H B AT AADR §2

1. SUHT AADR

2. I SABR

3. TUD HADR

4. IR AP R

Correct Answer :-

99) M qa®! Al Bl 1

gl dt e fore g #1, $u1 Hd g1 el 1
SWRIed Ufeaal § S19 ar v 82

1. oI I <9

2. Yfdd T

3. AT AT X9

4. R

Correct Answer :-

. foar I v

100) CASUAL LEAVE &1 Tg! f&dt uiavur @ -
1. Fofae 7a

2. 9 HHNS

3. BIS ol

4. 3TH D Gl

Correct Answer :-

. 3D Ggl



